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Nt FEBNE BEER (R AR TR £
£ g B - K& By B B i * &8 &

BRI 6, 755,200 + 171,648 6, 926, 848
EEAGE 6, 755, 200
EERE 171, 648
T Ot R 6,755,200 x 53.85% ( 35% =+ (1 — 35%) ) 3,637, 675
KHRE 6,926,848 + 3,637,675 10, 564, 523
—REEES 10,564,523 x 53.85% (35% = (1 — 35%) ) — 3,518 5,685, 477
EHMmE 10,564, 523 + 5, 685, 477 16, 250, 000
B EEET 16, 250, 000 x 10.00% 1,625, 000
EBTEH 16,250,000 + 1, 625, 000 17,875, 000




BENRE FEEA K ER(ERABB TR EHE

] i Mg - ARSI 4L % B B ® % m =

EER 6, 926, 848
TR 6, 926, 848
TR ¥R 6, 926, 848
HIEET 140, 050
BHE - #iF 140, 050
1 BHE - #f& 1.00 140, 050 140, 050

=
MEITHE 5, 694, 200
TS FEFOBRE 5, 694, 200
2 tHEWAEORE 1.00 646, 600 646, 600

=X
3 TWIRAFZDRET 1.00 1, 896, 700 1,896, 700

=
4 BB EOBRE 1.00 590, 300 590, 300

=X
5 B LA EDEE 1.00 628, 300 628, 300

=
6 ZETOMBRBREEDRET 1.00 1,932, 300 1,932, 300

=




BENRE FEEA K ER(ERABB TR EHE

] i Mg - ARSI 4L % B B ® % m =

theE - |E 469, 600
g - |E 469, 600
1 EATHE 1.00 117, 400 117, 400

=]
8 fRE 2.00 117, 400 234, 800

[l
9 RR|E 1.00 117, 400 117, 400

=]
Y 451, 350
Y 451, 350
10 EFTHREER 1.00 433, 550 433, 550

=X
1 AFARARERDER 1.00 17,800 17, 800

=X
EEEE 171, 648
=HAME 62, 856
12 2HARE 1.00 62, 856 62, 856

=
R 81,000
13 EFRER 1.00 81,000 81,000

=
ik 217,192
14 1&k& 1.00 27,792 27,792




REKR-FET/\vr—

SEESE M ROE (R AR TR RS

&= 1
%% BB - EF 14y
% [z g - BIKTE =¥ 2 i & E i =
EXEETACHD)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
HER (B)
A 0.50 45, 300. 00 22,650
=1 it YE¥HEH 1,00 140, 050. 00 140, 050
&5 .2
%5 . TENERRAEDKRET ® (1K)
% L] g - BIRTE BT 2 i & E i =
EXEETACH))
A 1.00 62, 200. 00 62, 200
HER (A)
A 2.00 55, 200. 00 110, 400
HER (B)
A 2.00 45, 300. 00 90, 600
HER (C)
A 5.00 35, 600. 00 178, 000
Hiff&
A 6.50 31, 600. 00 205, 400
=1 5 YE¥HEH 1,00 646, 600. 00 646, 600




S

KRMFJ-FET/ N — SEENMAXER(ERABIETIRETERS
5.3
B TWEBAFEORE ® (1K)
% [z R - KT B = B @ £ ] i =
HEnE
A 1.00 70, 900. 00 70,900
EXEETACH))
A 2.00 62, 200. 00 124, 400
HER (A)
A 5.00 55, 200. 00 276, 000
HER (B)
A 10. 00 45, 300. 00 453, 000
HER (C)
A 14.00 35, 600. 00 498, 400
Hiff&
A 15.00 31, 600. 00 474,000
= i 1EZRERN : 1.00K 1, 896, 700. 00 1, 896, 700
=4
%5 RIER RO ® (1K)
% ] R - KT B = B @ £ i i =
HER (A)
A 1.00 55, 200. 00 55, 200
HER (B)
A 3.00 45, 300. 00 135, 900
HER (C)
A 5.00 35, 600. 00 178, 000
Hif&
A 7.00 31, 600. 00 221, 200
= g 1EZ%8ERN : 1.00 590, 300. 00 590, 300




REKR-FET/\vr—

SEESE M ROE (R AR TR RS

&S5 :5
%5 B8 LAEDKRE % (1)
£ b3 g - BIRTiE =-Fiv] 2 i & E i =
EXETAC D)
A 1.00 62, 200. 00 62, 200
HER (A)
A 2.00 55, 200. 00 110, 400
HER (B)
A 5.00 45, 300. 00 226, 500
HER (C)
A 2.00 35, 600. 00 71, 200
Hif&
A 5.00 31, 600. 00 158, 000
=) 5 YE¥REH 1,00 628, 300. 00 628, 300
S .6
&% BELTOMBRBEFZORE % (=)
£ b3 g - BIRTE =-Riv] 2 i & E i =
HEnE
A 1.00 70, 900. 00 70, 900
FEHAT (F%ET)
A 2.00 62, 200. 00 124, 400
HER (A)
A 5.00 55, 200. 00 2176, 000
HER (B)
A 10.00 45, 300. 00 453, 000
HER (C)
A 15.00 35, 600. 00 534, 000
Hitf&
A 15.00 31, 600. 00 474,000
=) & YEZEREN 1. 00K 1,932, 300. 00 1,932, 300




REKR-FET/\vr—

SEESE M ROE (R AR TR RS

&= .1
£ %5 BAGE ZEP
£ b3 g - BIRTE BT 2 i & E i =
EXEETACHD)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
=1 il YEZHER ;- 1.00[E 117, 400. 00 117, 400
5.8
2 . PRERE ZEP
£ b3 g - BIRTE BT 2 i & E i =
EXEETACH))
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
=1 it YEZHER - 1.00[E 117, 400. 00 117, 400
5.9
&% RERBE ZEP
£ b3 g - BIRTiE =-Fiv] 2 i & E i =
EXEETACHD)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
=1 it YE%HES : 1.00[E 117, 400. 00 117, 400




RiEE I/ Svr— EETE MR ER(E R AR TR

E5:10
2 EBRTHRREER 1KY
£ L R - K& B B = B @ & %8 W E g &
EXEE 1 1EH))
A 1.50 62, 200. 00 93, 300
Em (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
Em (C)
A 2.50 35, 600. 00 89, 000
=1 g 1EZ8EH : 1.00 433, 550. 00 433, 550
511
2 AR SOER 1KY
£ L R - K& B B = B @ & %8 W E g &
Em (C)
A 0.50 35, 600. 00 17, 800
& B 1EZRER : 1.00 17, 800. 00 17, 800




REKR-FET/\vr—

SEESE M ROE (R AR TR RS

55 :12
%% BEARE 1xXHY
£ g R - KT B = il € ® i =
EHERRE
= 1.00 62, 856. 00 62, 856
=) &t EZE8EH : 1. 00K 62, 856. 00 62, 856
H5:13
& EBHRES 1By
£ L R - KT B = il € # s &
EBEHRAE
= 1.00 81, 000. 00 81,000
& &F 1EZ%BER - 1.00K 81, 000. 00 81,000
=14
2 k8 140
22 b R - KT By £ il & %8 H %=
W&
1.00 27,792.00 27,792
& B 1EZ%8ERN - 1.00 27,792.00 27,792




